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Cluster: 0022 mpn; resid: 0.48; r/c: 36/122

x.range

upstream meme PSSM #1; e=0.00045

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=28

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 111 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●
●

●

●

●

●

●●

●

yabD
serSholB

MPN042
MPN041

group2

tklB

MPN375

MPN374

MPN376

ruvB

MPN478
cmk

MPN644
MPN640

MPN643
MPN642

MPN639

MPN587

MPN585

MPN031 MPN287

MPN382

leuS

lacA

rbgA

MPN149

MPN409
MPN102

MPN128

MPN202

yceC

orf7

MPN463MPN488

MPN503

string
operons −200 −100 −1

adhesin P1 (group2) homolog: MPN085−0.00
hypothetical protein: MPN376−0.01
hypothetical protein: MPN640−0.01
hypothetical protein: MPN642−0.01
hypothetical protein: MPN643−0.01
hypothetical protein: MPN644−0.01
hypothetical protein: MPN639−0.01
hypothetical protein: MPN041−0.02
hypothetical protein: MPN042−0.02
hypothetical protein: MPN382−0.03

Holliday junction DNA helicase B: MPN536−0.06
hypothetical protein: MPN587−0.12
hypothetical protein: MPN374−0.19
hypothetical protein: MPN149−0.21

seryl−tRNA synthetase: MPN005−0.22
DNA polymerase III subunit delta': MPN007−0.22

hydrolase: MPN009−0.22
hypothetical protein: MPN031−0.29
hypothetical protein: MPN287−0.32

ribose−5−phosphate isomerase B: MPN595−0.37
transketolase: MPN082−0.99

hypothetical protein: MPN585−1.10
ribosomal biogenesis GTPase: MPN656−1.69

hypothetical protein: MPN128−3.08
NifU−like protein: MPN488−3.60

hypothetical protein: MPN450−3.75
r to RIBOSOMAL LARGE SUBUNIT PSEUDOURIDINE SYNTHASE D: MPN292−4.40

leucyl−tRNA synthetase: MPN384−4.67
cytidylate kinase: MPN476−5.02

hypothetical protein: MPN478−5.02
hypothetical protein: MPN375−6.38
hypothetical protein: MPN463−6.50

involved in cytadherence: MPN102−9.36
hypothetical protein: MPN202−10.96
hypothetical protein: MPN409−11.38

protein family involved in cytadherence: MPN503−11.79
log10(P) upstream meme1 2 log10(P.clust)=−2.56; 36 seqs; 28 uniq
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